



St. Louis County, Minnesota

Date of Report: 5/11/2025 6:10:26 PM

General Details

 Parcel ID:
 380-0010-00340

 Document:
 Torrens - 922600.0

 Document Date:
 10/30/2012

Legal Description Details

Plat Name: GRAND LAKE

Section Township Range Lot Block

2 51 16 -

Description: S1/2 of Govt Lot 4, EXCEPT Northerly 200 feet; AND EXCEPT That part of the S1/2 of Govt Lot 4, described as

follows: Commencing at the Northwest corner of said S1/2 of Govt Lot 4; thence Easterly, along the north line of said S1/2 of Govt Lot 4, a distance of 1316.69 feet to the Northeast corner of said S1/2 of Govt Lot 4; thence on an assumed bearing of S00deg26'49"W, along the east line of said S1/2 of Govt Lot 4, a distance of 200.02 feet to the south line of the North 200.00 feet of S1/2 of Govt Lot 4; thence N79deg11'01"W, a distance of 647.15 feet; thence S67deg04'11"W, a distance of 274.54 feet to a point on said south line of the North 200.00 feet of the S1/2 of Govt Lot 4, said point being the actual point of beginning of the tract of land herein described; thence continuing S67deg04'11"W, a distance of 469.21 feet to the west line of said S1/2 of Govt Lot 4; thence Northerly, along last described west line, a distance of 189.81 feet to said south line of the North 200.00 feet of the S1/2 of Govt Lot 4;

thence Easterly, along last described south line, a distance of 429.42 feet to said point of beginning.

Taxpayer Details

Taxpayer NameMEADOWS CHASEand Address:5850 MUNGER SHAW RD

SAGINAW MN 55779

Owner Details

Owner Name MEADOWS CHASE

Payable 2025 Tax Summary

2025 - Net Tax \$8,235.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$8,264.00

Current Tax Due (as of 5/10/2025)

Due May 15		Due October 15	5	Total Due		
2025 - 1st Half Tax	\$4,132.00	2025 - 2nd Half Tax	\$4,132.00	2025 - 1st Half Tax Due	\$4,132.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$4,132.00	
2025 - 1st Half Due	\$4,132.00	2025 - 2nd Half Due	\$4,132.00	2025 - Total Due	\$8,264.00	

Parcel Details

Property Address: 5850 MUNGER SHAW RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: MEADOWS, CHASE & CHELSEY

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$133,600	\$612,400	\$746,000	\$0	\$0	-		
	Total:	\$133,600	\$612,400	\$746,000	\$0	\$0	8075		





St. Louis County, Minnesota

Date of Report: 5/11/2025 6:10:26 PM

Land Details

Deeded Acres: 16.79 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

_ot Width:	0.00						
ot Depth:	0.00						
he dimensions shown are n	ot guaranteed to be s	survey quality. A	Additional lot	information can be	e found at		
ttps://apps.stlouiscountymn.	.gov/webPlatsIframe/				ions, please email PropertyT	Tax@stlouiscountymn.gov.	
		Impro	vement 1	Details (SFD)			
Improvement Type	Year Built	Main Flo	oor Ft ²	r Ft ² Gross Area Ft ² Basement Finish		Style Code & Desc.	
HOUSE	0	4,0	56	5,772	-	2S - 2 STORY	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	16	16	256	-		
BAS	1	18	34	612	-		
BAS	2	0	0	832	-		
BAS	2	26	34	884	-		
OP	1	6	21	126	PIERS AND FO	OOTINGS	
Bath Count	Bedroom Co	ount	Room C	ount	Fireplace Count	HVAC	
2.0 BATHS	-		-		0 C	&AIR_EXCH, PROPANE	
		Impro	vement 2	Details (AG)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
GARAGE	0	1,47	72	1,472	-	ATTACHED	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	32	46	1,472	-		
		Impro	vement 3	Details (PB)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
POLE BUILDING	0	72		728	-	-	
Segment	Story	Width	Length		Foundat	tion	
BAS	1	26	28	728	FLOATING		
27.10	·					02.13	
		-		ails (MTL SHE	•		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	72	=	72	-	-	
Segment	Story	Width	Length	Area	Foundat		
BAS	1	8	9	72	POST ON G	ROUND	
		Improveme	ent 5 Deta	ils (CONEX 8)	K20)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	0	16	0	160	-	-	
Segment	Story	Width	Length	Area	Foundat	tion	
BAS	1	8	20	160	POST ON G	ROUND	





St. Louis County, Minnesota

Date of Report: 5/11/2025 6:10:26 PM

		Improveme	ent 6 Details (8X	20 CONEX)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross A	Area Ft ²	Basement Finish	Style 0	Code & Desc.		
STORAGE BUILDIN	ORAGE BUILDING 0		160 160		-		-		
Segmer	nt Story	/ Width	Width Length A		Foundation				
BAS	1	8	20 160		POST ON (GROUND			
		Improven	nent 7 Details (S	EMI 8X22)					
Improvement Type	e Year Built	Main Flo	Floor Ft ² Gross Area Ft ² Basement Fini			ish Style Code & Desc.			
STORAGE BUILDIN	TORAGE BUILDING 0		176 176		-				
Segmer	nt Story	/ Width	dth Length Area		Foundation				
BAS	1	8	22	22 176		POST ON GROUND			
		Improvem	ent 8 Details (T	BOX 8X28)					
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross A	Area Ft ²	Basement Finish Style Code & Des				
STORAGE BUILDIN	IG 0	22	224 224		<u> </u>				
Segmer	nt Story	/ Width	Length	Area		Foundation			
BAS	1	8	28	224	POST ON GROUND				
	9	Sales Reported	to the St. Louis	County Aug	litor				
Sal	e Date		Purchase Price		CF	RV Number			
11	/2012		\$32,250			199278			
04	/2011		\$43,000		193079				
12	2/2009		\$35,000			188326			
		As	ssessment Histo	ory					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
	201	\$133,600	\$628,400	\$762,000	\$0	\$0	-		
2024 Payable 2025	Total	\$133,600	\$628,400	\$762,000	\$0	\$0	8,275.00		
	201	\$104,900	\$508,800	\$613,700	\$0	\$0	-		
2023 Payable 2024	Total	\$104,900	\$508,800	\$613,700	\$0	\$0	6,421.00		
	201	\$57,900	\$21,800	\$79,700	\$0	\$0	-		
2022 Payable 2023	Total	\$57,900	\$21,800	\$79,700	\$0	\$0	496.00		
	201	\$54,800	\$18,500	\$73,300	\$0	\$0	-		
2021 Payable 2022	Total	\$54,800	\$18,500	\$18,500 \$73,300		\$0	440.00		
		7	Tax Detail Histor	у		<u>'</u>			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land	Taxable Bu		al Taxable M\		
2024	\$6,821.00	\$25.00	\$6,846.00	\$104,900	\$508,80	00	\$613,700		
2023	\$597.00	\$25.00	\$622.00	\$36,057	\$13,57	\$13,576			
2022	\$601.00	\$25.00	\$626.00	\$32,880	\$11,10	100 \$43,980			





St. Louis County, Minnesota

Date of Report: 5/11/2025 6:10:26 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.